SUMMATIVE ASSESSMENT -l (2011)

. i% qﬁ&" _I 460014
MATHEMATICS / 7Tford
Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)  All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections A,B,C and D. Section A
comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks each,
section C comprises of 10 questions of 3 marks each and section D comprises 10 questions of
4 marks each.

(iii) Question numbers 1 to 10 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

(iv) There is no overall choice. However, internal choice have been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

(v)  Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

1. Every rational number is :
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(A) anatural number (B) aninteger

(C) areal number (D) a whole number
T IR HEA

(A) T dpd WA B (B) s quife e €
(C) u= arafos dem | (D) w ot dem gl

If p(x) = x3 —x2+x +1, then value of w is :

If p(x) =2x3 —3x2 +4x — 2, then p(—1) is :

A) -2 (B) —11 < 0 (D) 1

afe p(x) =2x3 —3x2 +4x—2 % A p(—1) %:

A) -2 (B) —11 O 0 D) 1

If AB=x+3, BC=2x and AC=4x—5, then for what value of ‘x’, B lies on AC?
(A) 8 (B) 5 (C) 2 (D) 3

afg AB=x+3, BC=2x aan AC=4x—5, @l x & fog oM & feru fog B, AC R &2
(A) 8 (B) 5 (C) 2 (D) 3

Find the measure of the angle which is complement of itself :

(A) 30° (B) 90° (C) 45° (D) 180°

I HIVT, ST T 1 Tk B, ©

(A) 30° (B) 90° (C) 45° (D) 180°

In AABC and APQR, AB=PR and ZA= ZP. The two triangles will be congruent by SAS
axiom if :
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10.

11.

(A) BC=QR (B) AC=PQ (C) AC=QR (D) BC=PQ

st ABC 3R f1q<1 PQR #, AB=PR @21 LA = /P %1 A <1 Fqs SAS sifirpeia @ wafmaw g afg

(A) BC=QR (B) AC=PQ (C) AC=QR (D) BC=PQ

The area of an equilateral triangle is 16 3 m”. Its perimeter (in metres) is :
(A) 12 (B) 48 (C) 24 (D) 306

fereft Trwag ooyt 1 &mhet 16 <3 m” &1 s@e wim (el ) ®

(A) 12 (B) 48 (C) 24 (D) 306

The area of a triangle whose sides are 13 cm, 14 cm and 15 cmis :

(A) 42cm® (B) 86cm’ (C) 84 cm’ (D) 100 cm’

Ife 1S 1 omd 13 A, 14 F.1fF 3R 15 A, 2, & ST &A% BT -

(A) 42 f.+. (B) 86 %72 (C) 84w’ (D) 100 &2

Section-B

Question numbers 9 to 14 carry two marks each.

5
Simplify : | —

1

2775
1,3\
[Eélémwﬁm|
275

Factorize : X2 +3 /3 x+6.
x2 43 3 x+ 6 F UGS HIfAC

Write the expansion of (—2x + 3y +22)2.

(—2x + 3y + 22)2 %1 yar FHfew
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12.  |n the adjoining figure, AC=XD, C is midpoint of AB and D is midpoint of XY. Using an
Euclid’s axiom, show that AB = XY.

B X
/ X
A Y

spfa #, AC=XD ¥, C, AB &1 #ea fog ¥ 92n D, XY 1 94 fag &1 gfaere & s @ifwgdia (axiom)
1 T ek <33T foh AB = XY.

B X
/ X
A Y

13.  In the figure below, O is the mid point of AB and CD, prove that AC=BD.

A
D

B

fret sfa #, farg O Tamee AB & CD %1 7e farg ©1 fag #hifSe fof AC=BD.

A

w)

OR
In the figure below, ZAOC and «£BOC form a linear pair. If b=80° find the
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14,

15.

value of a.

A
p
5
4

=1 smpfa #, £~ AOC den ~BOC s e g a9 €1 afe b=280°, @ a &1 7 71 shifsg |

Plot the point P (2, —6) on a graph paper and from it draw PM and PN perpendiculars to x-axis

and y-axis, respectively. Write the coordinates of the points M and N.

g P(2, —6) 1 TH TI R ATITEd HIFTT T TR 59 =g P T PM THT PN HHTT: x - 3787 TAT y -

8] W T Gifa | foag M 91 N o Feetie ot fafa |

Section-C

Question numbers 15 to 24 carry three marks each.

30,529, »28

275427742 7

2774277 =2 10
930529 28

7
fas =it % 231, 530 _529 ~ 10

OR

If a=2, b=3 then find the values of the following :

(i) (ab+ba)—1 (i) (a@+Dbb)—1

afga=2, b=23 da =1 &1 71 I HIfS -
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16.

17.

18.

19.

() (@P+ba)~1(i) (a@+bb)—1

If x=3—242, then find the value of

i)
X

e x=3—-22 &, @ [x2 - iz] 1 T J0d HITST |

X

Divide the polynomial 3x4—ax3-3x—1 by x —1 and find its quotient and remainder.

ag7e 3x4 — 4x3 —3x — 1 Fix — 1 & 9 AT Ao 3T IFTRE IR IS F1 HIAT

OR
If both (x—2) and (x—%j are factors of px2 +5x+r, show that p=r.

afg (x — 2) qen (x—%j 31 7gTE px2 + 5x + r F e §, A et fE p=r¥|

Using suitable identity evaluate (42)3 — (18)3 — (24)3.
IR T F W w5 (42)3 — (18)3 — (24)3 w1 WM F@ Fifw)

Prove that the sum of three angles of a triangle is 180°.

fog wifS fo forelt forvgst < A1 =iom =1 =i 180° e 21
OR
In the following figure, [||m and TR is a transversal. If OP and RS are

respectively bisectors of corresponding angles TOB and ORD, prove

that OP||RS.

= < emRfa F, [
THfgeTSTe 7, @ fag wifse fF OP||RS 21

lm 3 TR ws fode W 81 afe OP sk RS s#w: ga st TOB ik ORD %
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20. In the given figure, ZX=72°, ZXZY=46°. If YO and ZO are bisectors of ~ZXYZ
and Z XZY respectively of AXYZ, find £ OYZand £ YOZ.

T T Wﬁ’, IX=72° /XZY=46°% afe YO aa ZO [ERS] ZXYZ & o /XYZ 9 XZY &
FHAY: UGS &, @ L0YZ da £ YOZ Fd shifsa |

21.  In Fig. given below, AD is the median of AABC. BELAD, CFLAD. Prove that
BE =CF.
A

=1 smpfa § AABC =t ws wiftwer AD @1 BELAD @an CFLAD &, @t fag %ifsw & BE = CF.

A

22.  Prove that angles opposite to equal sides of an isosceles triangle are equal.
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23.

24,

fag wifse for foreht Twfgarg Ay 6t sRIeR [eiell % ¥9 @ I SR B € |

In the given figure, ift ~\FDA=85°, #ABC=45°and «ACB=40°, then prove
that DF||AE.

F E
85° c
D A 40° "
45°
B
& T emhfa #, afe L FDA =85°, ~ ABC=45° sk ~ ACB=40°, 2 i fag =ifsu fw

DF||AE #1

F E

45°

B

A triangular park has sides 120 m, 80 m and 50 m. A gardener has to

put a fence all around it and also plant grass inside. How much area

does he need to plant ? Find the cost of fencing it with barbed wire

at the rate of Rs. 20 per meter leaving a space 3 m wide for a gate on

one side.

Tk ISR ek w1 o 120 =i, 80 =t qen 50 =, ¥ 1 wrelt sl 35k wRI AR =g oRHT € 91 5T
3T T T & | o &5t § S9SN S €2 hieqR IR ¥ 39 ek H &g o W R =1 2
et for ofa Hiex =@ 20 €. 991 S & ferg 3 . e U AR sret B
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25.

26.

27.

28.

29.

Section-D

Question numbers 25 to 34 carry four marks each.

Rationalize the denominator of

4
2+ B +7

4
m%awqﬁﬁaﬁwaﬁml

OR

fa=7-4 ﬁ,findthevalueof \/a_+ i

N

afGa=7-4 3 & @ a + % 1 A AT HiT |

Express 1.32 +0.35 as a fraction in simplest form.

1.32 + 0.35 ! TeiqH Tl o &9 ¥ fafan

The polynomials ax3 —3x2+44 and 2x3 —5x+a when divided by (x—2) leave the
remainders p and q respectively. If p —2q=4, find the value of a.

afe (x — 2) ¥ 589 ax3 — 3x2 + 4 7o 2x3 — S5x + g FI AT FH T ITHA FEL: p 9T q TG I
gdMp—2q =47, O g F T I ST

If —4 is a zero of the polynomial p(x)= x3 —x2 —14x + 24, find the other zeroes.

afs 7gTe p(x) = 13 — x2 — 14x + 24 F1 T Y=1F — 4 2, T 371 Y= 91 FA)
(i) Expand (1a— L 1)2
P 4 2
(i) Evaluate (102)3, using suitable identity.
: 11 2 e
(i) (Za—5b+ 1)ﬁwﬁ—dwﬁfw§|
(i) TR weafTE w1 W a (102)3 @ 5 7@ Fif)

OR
Factorise : a3 — b3 + 1 + 3ab.
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30.

31.

32.

33.

a3 — b3 + 1+ 3ab ¥ TGS iUl

Plot the points given in the table below in the Cartesian plane.

x | -1| 3| 0 |-8|5|-3
y | 7 |-4l 7|0 |-2|-3

=1 Twoft # feu fogsti =it wdta aa # seifaa i :

-1l 3| o |=-8] 5 |-3
vy | 7 | -4l 7|0 ]|-2]|-3

In the figure below, if PQ||ST, ZPQR=110°and ZRST=130° find ZQRS.

= ampfa #, afe PQJ|ST ?, £LPQR=110°&de LRST=130°%, @ ZQRS I &I |

110°

R

Prove that the sum of any two sides of a triangle is greater than twice the length
of median drawn to the third side.

fag wifSe for fordt e 1 &g oft <1 yeie et e oot a6 @i 7 Afearst & g @ oS! Bt 71
In the given figure, if AD is the bisector of ZBAC then prove that :
(i) AB>BD (i) AC>CD

& T smepfa #, afe AD 101 L BAC 1 gefgursis & @ fag shifse i -

(i) AB > BD (ii) AC>CD
A
B D C
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34. In figure below, AB=AD, AC=AE and ZBAD = ZCAE. Prove that BC=DE.

A " E

B D 8.

& T opfa #, AB=AD, AC=AE am /BAD = ZCAE ¢ fag sifsit BC=DE.
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